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SECTION A
(5Qx4M=20Marks)
S. No. Marks (6{0)
Q1 Briefly explain the role of” Kaizen” for development and growth of organization? 4 col
Q-2 With the help of suitable example explain the use and purpose of FMEA. 4 CO2
Q-3 What are the eight Pillars of TPM. Explain how traditional model of TPM is differ from 4 CO2
emerging Model
Q-4 Calculate the overall reliability of the “n” series system if each contain “m” parallel 4 CO3
identical systems, Assume individual reliability of each subsystem is r?
Q-5 Write the short notes on 4
a) OEE CO5
b) 5S (2+2)
SECTION B
(4Qx10M= 40 Marks)
Q-6 What is process capability Index? What is its advantage? Draw suitable diagram to 10
explain it? COoz2
Q-7 The data shows the sample mean and range for 10 samples for size 5 each. Find
the control limits for mean chart and range chart.
Pl 0 3 [ (0 ) s s [io
101 cos
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Q-8 Write all the clauses and sub-clauses of ISO 9000 Quality Management System? 10
Explain the steps involved in implementation of ISO system in any organization? CO4
Q-9 The time taken to assemble a car in a certain plant is a random variable having a
normal distribution of 20 hours and a standard deviation of 2 hours. What is the 10
probability that a car can be assembled at this plant in a period? (5+5) CO4

a) less than 19.5 hours?
b) between 20 and 22 hours?

SECTION-C
(2Qx20M=40 Marks)




Q-10 When is the best time in the product development process to do QFD? What is the 20
difference between "voice of the customer" (VOC) and customer needs? Draw a

CO5
diagram of “standard QFD “and explain each block of it? (8+6+6)

Q-11 What is alpha and beta risk associated with sampling? Draw standard OC curve to 20 co4
explain this? (10+10)
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